What did T. rex taste like?
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Folder 1
1. What are the three major groups of organisms on the branching diagram?

2. Write a 2 sentence description of each of the three major groups.
3. What is the definition of a common ancestor?
4. What are the similarities and differences between a family genealogy and a branching diagram?
5. Define lineage.
6. According to the activity what is the time that we can trace the history of life back to?
7. Write the 2 questions and correct answer for the quiz at the end of the folder.
Folder 2
8. Draw the branching diagram that connects the caiman and the parrot. Label “distinct histories”, “shared
history”, and “common ancestor”. B C
9. What is the basis for determining how closely organisms are related?
10. Label the point on the diagram that represents the most recent common
ancestor for A and C. Label the area that represents the shared history of
A, B, and C. Label the area that represents the unique history of B.
Folder 3
11. Draw the cladogram (branching diagram) for the hare, caiman, and parrot.
Label the point that represents the common ancestor.
12. Briefly describe the advantages of the following inherited ’
characteristics: +
a. vertebrae— d. hair-
b. amniotic egg — e. fourlimbs
c. two skull openings f. bony skeleton

13. What are the Frog, Human, Hare, Caiman and Parrot all part of along with being Vertebrates?
14. How do scientists use fossils to figure out characteristics that show up through the cladogram?
Folder 4 PO
R - . < +
As you explore Folder 4, recreate and fill in the data tables below, using a +, -, or ?. é@ & _{"’
What do each of the following symbols mean? v Q s
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15. What did T-rex taste like?

16. What evidence was used to determine that T-rex tasted like this?

17. What does the red bar on a cladogram represent?

18. What two groups of animals share the most characteristics in common?

19. According to the data table, what is characteristic is the difference between Sharks and Tuna?

20. What characteristic does Caiman, Parrots and T.Rex share that evolved after the common ancestor with Humans
and the Hare?
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Folder 5 complete the special assighment below:

Special Assignment:
Solving T. rex’'s ldentity Crisis

Examine at least two of the questions below and make inferences about T7 e,

1) IDid ¥ rex have an amniotic egg? A1 Did T rex have color vision?

20 Was T orex warm-blooded or 5) Hew many chambers were there
cold-bloaded? in ¥ vex’s heart?®

3) Could T rex have had feathers? G) IDid J rex sing to its offspring?

Using your cnrnplctcd features table and the cladosram with additional daca:

A) Decide if it 1s possible to answer the question with the data provided (the

cladogram and data table).
B} If it is not possible, whar informartion is neceded te be able to answer the question?

) Ificis Pc:sslblv:, what kind c:f_h]."'pc:thcsis wrold yoau make? What is the evidence
for your statement? In your justiﬂcatiﬂn, make sure that Yo include informarcion
about common ancestors and shared inherited features. "Whar other evidence

Wﬂl.'l.ld you J.C!DJ:{ I['_C‘II that WE‘IL‘I.J.C]. E'L'I.pr_‘ll't o IC{'—LII:C your h}'PGthCEiE?

BOMNUS: YWhat aother kinds of questions might be answered using the cladogram and
data table?

Cladogram Additional data

Below is a simple cIadogram indicating the proposed This data table indicates the presence or absence of eleven additional

lati hi h . dT features for the caiman and the parrot. Notice that the information about
relationship among the caiman, parrot, an - rex. the T. rex has not been filled in. You will need to make that determination

caiman parrot T. rex based upon what you have learned.
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Lineage might have been a new term for you. Which is the best definition for lineage?

a) A single line showing age.

b) A continuous line of descent.

c) A set of parallel lines.

Within this folder, you compared the history of a single family to the history of all life. What are some things
that they have in common?

a) Both have a point of common ancestry.

b) In both, descendents inherit features from previous ancestors.

¢) In both, descendents more closely resemble their recent ancestors than more distant ancestors.

d) All of the above.

¢) None of the above.
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Which feature do humans, hares, caimans, and parrots share that the other three lineages did not inherit?
a) Bony skeleton
b) Hair

¢) Amniotic egg

What did T. rex taste like?
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What evidence did we use to determine that 7. rex tasted like chicken?

a) T. rex's heel bone does not have a bump

b) T. rex is bipedal

c¢) T. rex has a reduced number of fingers

d)aandb
e)bandc

Because 7. rex was bipedal and had a reduced number of fingers, we can infer:

a) that 7. rex was more closely related to birds than to crocodiles

b) that 7. rex and birds inherited these features from a common ancestor

¢) that T. rex probably shares more features with birds than with other vertebrates

d) all of the above

¢) none of the above
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